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Time: 35 Minutes

| Paper Math 7(T-1) |

Total Marks: 25

| 3rd Month, 4th Week, 6th Day |

Revision Test (Domain 2) |

Q.1. Choose the correct options.

A x13=13) -/ N7z
(i) What number is added to make the sequence 28, 34, 40, 46, :
€28,34,40,46, < VUl odld Ll bilss

()

6

(b)

7

(©)

8

(d)

9

(ii) What number is multiplied to make the sequence? 6, 18, 54, 162
6,18, 54, 162‘.‘96&,,/:_),«@&4;&:;:}

(@ 2 (b) 3 (©) 4 (d) 5

(iii) Identify the open sentences: B0 /'/d?i t‘Jd/;/“”g
@] 2x+7=5 [M)| 10+5=15 |(©)| 18+2=9 |(d)| 16x4=064
(iv) In x2 - 2xy + 16, the constant is: :‘LJE”” U~x2-2xy + 16
(a) 16 (b) 0 © 1 ) -2

(v) The product of 7x° and 2x%y® is:

() 14x3y® (b) 14x3y0 (©) 17x%y (d) 14x%y5
(i) 50°m’ +3¢’m* =?

@| s5°m""  |®m)| 54w © 5/'m’ |(@) 50%%°

(vii) What is the factorization of X* +5x—2x-10?

S UGS X +5x—2x-10

(a

'

(x-2) (x +5)

(b)

x-2)x-5)

(©

x+2)(x+5)

@

x+2)(x-5)

(viii) The factorization of 3xy +3—3x—3y

is: I+J;J3xy+3—3x—3y

(a

'

B+3y)(1-x)

(b)

B+3y)(1+x)

(©

B-3y)(1+x)

@

G -3y)(1-x)

(ix)

Which of the following is the polynomial?

e A e Ut i

@

8x2+2

(b)

9x2 + 5x71

(©

2x2+5

@

343
X

(x) The solution of 3x - 1 =8 is: 3‘LJ’K3X -1=8
] ¢ Jof -7 Jo| s Jao] o |
(xi) In the sequence 30, 33,36,  the next term is:
e pdIt30,33,36, oo
(a) 38 (b) 39 (c) 40 (d) 43
(xii) The solution of 60 + 2x = 7x is: 2‘¢J'K60 +2x ="7x
(a) 12 (b) 13 (© 15 (d 16

(xiii) Which of the following sequence starts at 36 and having common
difference 2?

?‘QZJ)J;}'J)’QJ}?CJ'L36%:}U’ u:(a, ufJ.. 3T

(@ 34,3536 |[(b)| 36,36,36 |(c)| 36,39,42 |[(d)| 36,38,40
Q.2. Answer the following questions: 2x4=8) - )?U?LQU’)’J.. B 1O%)
(i). Solve the linear equation. - /J’f.wv&.».{

6—%(x+5)=4x

(ii). The sum of three consecutive integers is 123. What are the integers?
B 123 LSS CE
_u:/df:'d’ 4X + 6y —2—12xy
(iv). A certain number added twice to itself equal 96. What is the number?
e w—c b J o965 b UL 1l

Q.4. The sum of the ages of Abdul Hadi and Abdullah is 32. In two years

(iii). Factorize: ~ 4X+06y—2-12xy

Abdul Hadi will be three times as old as Abdullah. How old are they

now? (1x4=4)
02 SISt IS A SOt 2 - 32,05 6 S s
s dyf



